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1. Th[’; Second Round Table Conference was
heldah London in
) 1029 (13) 1931
(Cya830 (In 1932

What is the body material of bench vice ?

=

{A) Cast iron

(B) Mild steel

() Wrought iron
(D) Hardened steel

3. Which part is pivoted to the disc of vernier
hevel protractor ?

(C) Dial

4. How can measure the minor diameter of
a internal thread accurately ?

(A) By three wire method

(B) By screw thread micrometer

(C) By plug gauge

(D) By using slip gauges and precision;
rollers

(B) Stock
(D} Blade

5. The image used by malleable mud
moulded into various shapes which is
worshiped by unmarried girls as Mother
Goddess in Haryana of which festival 7
(A) Teej (B) Gangore
{C) Sanjhi (D) Holi

6. Select the number which is different from
others in the group.

(A) 23 (B) 59
(€79 (D) 87

1. Arrange these events in Chmnalugih

order.

1. Introduction of Rowlatt Satyagraha
_ 2. Champaran Movement
8. Kheda Movement
movement in Bardc l
. 3,1, 4 (B) 1,2,3,
D) 3,4,1,2
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A ___isa computer server that
hosts a network service for providing
responses to queries. [L maps a numeric
identification or addressing component.
(A) Name Server

(BY Browser

(C) Application Server

(D) Web server

Virender Sehwag scored his maiden
double century in one day International
cricket against :

(A) Australia (B) New Zealand
(C) England (D) West Indies

The plains are made up of sand, clay,
silt and hard calcareous gravels locally
known as

(A) Saras
(C) Bunkers

(B) Kankars
(D) Karnals

In 1739 Mughal empire lost its glory
because of this battle
(A) Battle of Panipat
(B) Battle of Karnal
(C) Battle of Sonipat
(D) Battle of Mewat

Which is the chip less method
production ? :
(A) Die head 0
(B) Thread rolling 3
(C) Thread milling
(D) Thread grinding

IMF stands f:fr
(A) Interpatinnsl
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What is the name of thread producing
method by cold forging and by a plastic
deformation ?

(A) Thread rolling
(B Thread milling
(C) Thread grinding
(D) Thread casting

Haryana Institute of Civil Aviation was
conceived in 1999 by merging 3 earstwhile
aviation clubs. Which among the following
was not one of them ?

(A) Karnal Aviation club
(B) Rewari Aviation club
(C) Pinjore Aviation club
(D) Hissar Aviation club
Gypsum is
(A) CaSO.,.HQ(J
(B) CaS0O . 1 H.O

) €150, 1/ H,
{C) C:LSO'.SHJO
(n) (3330,.2112(;

» Gurdwara of Haryana was built
in the memory of Gury Gobind Singh.

(A) Gurdwara Patshghj

(B) Gurdwara Rajghat

(C) Gurdwara Panjokhra Sahib

(D) Topiyonwala Gurdwary

Which instrument cap measure angle

UPLo an accuracy of minutes ?
(A) Bevel gauge.

(B) (hmbination sot

(C) Verniep bevel Protractor
(D) Angle gauge -
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(i{(:'l:?n,;l Government Medical College
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1
The present worth of Rs. 2,310 due 2 .

years, hence the rate of interest being
15% per annum is
(A) Rs. 1,750
(C) Rs. 1,840

(3 Ra. 1,680
(DY Re, 1,443.756

Money Bills are introduced with prior
approval of in State Legislature
of Haryanp.

(A) President
(C) Chairman

(B) Governor
(D) Chief Minister

Which method of thread forming produce
threads on non-metals ?

(AYThread casting
(B) Thread milling
{C) Thread rolling
(D) Thread grinding
The last critical specification of a color
monitor is the , the distance
between the like-colored phosphor dots
of adjacent pixels.
(A) Size

(C) Refresh rate

(B) Resolution
(D) Dot pitch

A variety of dolphin also called locally as
Susu found at fresh waters of river

(A) Krishna and Bhima

(B) Ganga and Brahmaputra 2

(C) Kavery and Tungabhadra b
(D) None of the above |G R
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Which safety practice refers, do not wear
the ring ?

(A) Road safety
(B) General safety
(C) Machine safety
(D) Personal safety

What 1s the cut of file used for deburring
the job on lathe ?

(A) Rasp cut file (B) Double cut file
(C) Curved cut file (D) Single cut file

The only engineenng college of Haryana
when it was formed in 1966 was situated at
(A) Gurugram

(C) Hissar

(B) Panipat
(D) Kurukshetra

Find the number of terms in the series

2,6,9, ., 381
(A) 90 (B) 127
(C) 143 (D) 51

The length of a room 15 5.5 m and width is

3.75 m. Find the cost of paving the floor by
slabs at the rate of Rs. 80O pe

(A) Rs. 15,500

r sq.metre

(B) Rs. 15,550
(C) Rs. 15,600

——

15 celebrated op Ma
(A) World Tobaece Day
(B) World Water Day
(C) Yoga Day

(D) None of the above

What is the uge of a sine har 7

(A) To determine the angle of tape
b

(B) To Measure the length

(C) To Measure the gap

of a taper job |
(D) Ta Mensyre the diameter of the job
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34. What s the type of carrier ?

(A) Bent tail

(B) Clamp Type

(C) Straight tail

(D) Safety clamp type

35. Which of the following was ruled by the
Maratha ruler Mahadaji Scindia ?

(A) Jhansi (B) Mumbai
(C) Gwalior (D) Hissar

36. mosque was built by Babar
after his victory over Ibrahim Lodhi.

(A) Kabuli Shah (B) Lat ki Masjiud
(C) Anjuman Jama (D) Lal Masgg

37. Phag dance is performed in the o
(A) Phalguna (B) ;

(C) Jyeshta (D) Vais

38. Which tool is used for cutt
thread ?
(A) Die
(C) Dnill .
89. Which wct:lm has L:venﬁ' I
(A) Difficuliainbe
(B) 8
FCL
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~was the First Institute
ﬁghor learning to create a separale
college for sports in India,
(A) Punjab University. Chandigarh
(B) HAU, Hissar
(C) NIT, Kurukshetra

(D) None of these

Gupta Rule began in India in
{A) 321 BCE (B) 320 CE
(C) 78 CE (D) 185 BCE

Pulitzer Prize 1s awarded by

(A) Columbia University, New York

(B) University of Michigan

(C) Oxford University, United Kingdom (UK)
(D) None of the above

Which is the type of gas flame ?

-

(A) Neutral flame

(B) Oxidising flame
(C) Carburising flame
(D) Natural Dame

What is the length of siy

: 4 iple g -
which ticks seconds ? PIe POrgE.

(A) Im
(C) 3m

(B) 2m
(D) 4m

'::;r{}i\gtistheexpanded form of ABC in fipag

(A) Airway, Blood and Circul
(B) Aﬂpi.ration, Bloed and Cird

(C) Airway, Breathing and Circulntioh
(D) Aspiration, Breathing and Circulati
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o of v
Which portion of g hammer head is not
hardened or left sofy 2

(A) Face
(C) Cheek

(B Pein
(1)) Cross pein
The king of Kalsia bualt fort a1
of Haryana.

(A) Kaithal
() Jind

_____lown

(13) Panipat
(D) Chhachhrauli

Markanda river joins Saraswati at this
location

(A) Sarsuti

(B) Dangri

(C) Chautang tributary
(D) Sanisa lake

What does BIS stand for ?
(A) Bureau of International Standard
(B) Bureau of Indian Standard

(C) Bureau of International Society
(D) Bureau of Indian Society

Select the odd word.
(A) Hate
(C) Likang

(B) Fondnessg
(D) Attachment

Heavy hydrogen is also known as
(A) Protium (B) Deuterium
(C) Dihydrogen (D) Tritium

J

: 9

What is the name of angle mar!;—g}d X9
.I;'I-'J..F_%
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Which type of chisel is used for squaring
materials at the corners and joints ?

{A) Web chisel

(B) Flat chisel

(C) Cross cut chisel

(D) Diamond point chisel

The boxang club famously known as power
house of Indian boxing is situated at

(A) Hissar (B) Gurugram

(C) Bhiwani (D) Faridabad

‘Rana Nimantrana' is a famous work by
the poet

(A) Uday Bhanu Hans

(B) Khushiram Sharma

(C) Lakshmi Chand

(D) Rajaram Shastri

Which of the following Chief Minister ofy

Haryana had the longest tenure in office’?
(A) Rao Birender Singh

(B) Hukam Singh

(C) Pandit Bhagwat Dayal Sharma

(D) Bansi Lal

What is the only thread form cut using
die head is turret lathe ?

(A} Square (B) ACME

(C) V-Thread (1)) Saw-Tooth

Which of the followi ng organizationshe

released its annual “State of the @

Climate” for 2020 Report ? [ S Ey

(A) Ministry of Environment, Forostit e
and Climate Change (MOBRC()

(B) United Nation Lovironment

« {;;a%nmmt: (UNEP) !

') Wor Meteorological Or anizntio

(WMO) g thion |

(D)) None of the above

Which is the smallest unit
méasurement ?
(A) Radian

(B) Degras
{C} Ml'n,utgg

(D) Seconds
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What is the standard colour code used for
identifving the bin for the metal waste
material ?
(A) Red

(C) Green

(B) Blue
(D) Violet

Which type of vice is used for marking of
small jobs on the surface plate ?

(A) Pipe vice

(B) Bench vice

(C) Tool Marker's vice

(D) Quick releasing vice

Which grade of file is used for heavy
reduction of material ?

(A) Smooth file

(B) Bastard file

(C) Second cut file
(D) Dead smooth file

Who led the revolt of 1857 in the district
Hissar in Haryana ?

(A) Kadam Singh

(B) Mohammad Azam

(C) Bahadur Shah

(D) Wajid Ali

Identify the part marked as ‘X’ in a
British chasing dial.

X g
(A) Worm gears (B) Bevel geag
(C) Helical gears (D) Hy b

4
63% of 3= i8
7

(A) 2.26 ¢
(C) 2.50

(B) 2.40
(D) 2,75
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If the lett
ers of the :
— : ¢ ward CARRB nre
How 15:1(:1 ’llli“{‘l‘,‘Ulitr_:i!L\-' from lefy :::I:]I -::T
yr oy letters will romain ¢ e
oaitian 5 m at the same
(A) One
- B Tw
bl wo
(C) Three D) Four
Juhi Chawla was crowned as Miss India in
(A) 1981

(B) 1984

(C) 1988 (D) 1994

Desktop publishers and graphic artists
get realistic quality and coloy for photo
images using printers,

(A) Line

(B) Band

(C) Thermal wax

(D) Dye-Sublimation

Where is the dead centre fixed on lathe ?
(AyCarriage (B) Tail stock
(C) Head stock (D) Cross stock

A trader marked the selling price of an
article at 10% above the cost price. Atthe
time of selling, he allows certain discount
and suffers a loss of 1%. He allowed a
discount of
(A) 9%

(C) 10.5%

Which one belongs to | e
(A) Soft skill :
(C) Knowledge ) /Te

The shift, Ctrl (Control)an

b
i
T Tk

keys are called as _————==
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English Language NI e
Direction 83 and 84 : The following questiona | 87. wef 3 & S ﬁnaﬁ 5
consist of fragments of a sentence. The first qﬁmwﬁmmmmaﬁmm%,
fragment (1) and the last fragment (6) are in u .
n:-?ftr:,u'l‘hr‘ other four fragmentas are jumhlt‘?rf 341 =3 92 T Ea 7w —_ HEHR
up and are designated as (P), (Q), (R) and {hl‘. a1 2
Find out the correct sequence of these from the
given alternatives, (ﬁ))%'-'ﬁﬁ
83. (1) On reaching the station
(P) he first looked around (B{m
(@) and when he could find none
(R) he just lifted his luggage (C) Sean
(S) for a coolie ' o o
(6) and walked down to the platform. (D) FH Tﬂé el
(AYPSQR (B) QRPS
(C) RPSQ (D) SQRP 88. ‘fee YTST 37 91s2 2
84. (1) At the end of the assignment, (A) FTE
(P) the field worker
(Q) submitted his papers (}ﬁ-aqﬁsﬁ
(R) for the work done by him
(S) and also bills (C) 1Tt
(6) to the office Superintendent, .
(AMPQSR (B) QPRS (D) 519 @ wid 7
(C) QSRP (D) RSQpP )
Direction 85 and 86 : In the k| .. MamEm T=H I, S AR
ection an 2 In thefollowing
questi;}]ns each sentence consists of a word Eﬁvm’ L) _ ﬁ‘ﬁwmﬂ &l
or a phrase underlined. The given sentence :
ifls followed by four words or phrases, choose (A) T
the word nearest in meaning to the word
underlined. ¢ : {B.)/ﬂ:ﬂﬁ]aa;
85. There is not a single word that i« (C) g
redundant in the report _
(A) Bombastic . (D) T4 & #rd 7
(B) Unimportant .
(CrFlowery 90. fadt g W i
(D) Not needed iy b .
. 111“113? parta (n il 3 R
of the world confirmg global warming ®) g

Trals

* (C) T
) FE

4

which is an em'irbnmqntal ha

(A) Rising (B) Fallix
() Shooting l‘DI.u".l






